

Polynomials with Laguerre Weights in L^p

H. N. Mhaskar and
Department of Mathematics
California State University
Los Angeles, CA 90032

E. B. Saff
Department of Mathematics
University of South Florida
Tampa, FL 33620

Abstract. For each p ($0 < p \leq \infty$), $s \geq 0$, and integer $m \geq 1$ we consider the extremal problem

$$E_{s,m,p} := \inf\{\|t^s e^{-t}(t^m - q_{m-1}(t))\|_{L^p} : q_{m-1} \in P_{m-1}\},$$

where the L^p -norm is taken over $[0, \infty)$ and P_{m-1} is the collection of polynomials of degree at most $m-1$. The asymptotic behavior of $E_{s,m,p}$ as $n := s+m \rightarrow \infty$ and $s/n \rightarrow \theta$ is determined along with the zero distribution for the associated Chebyshev polynomials. The paper includes the proofs of results announced in [7].

1. Introduction

Motivated by the theory of incomplete polynomials introduced by Lorentz [5], we proved in [6] that for every $\alpha > 0$ and integer $n \geq 0$, there is a constant $a(n, \alpha)$ such that for every polynomial P of degree at most n ,

$$(1.1) \quad \max_{x \in \mathbb{R}} |\exp(-|x|^\alpha) P(x)| = \max_{|y| \leq a(n, \alpha)} |\exp(-|y|^\alpha) P(y)|.$$

We found an explicit expression for $a(n, \alpha)$ in (1.1) which is asymptotically best possible (as $n \rightarrow \infty$) and also applied our results to the theory of certain orthogonal polynomials, now known as Freud polynomials. In order to develop a general theory unifying the previous results [3], [4], [5], [10], [11], [12] of Saff, Varga, Lachance, Lorentz, Kemperman, Ullman and others and our results in [6], we considered the case of the Laguerre weight function $x^s e^{-x}$ on $[0, \infty)$. The results for this weight were announced in [7]. In this paper, we shall provide the proofs.

During the last year, we did, in fact, make significant progress towards the development of a general theory ([8], [9]). Thus, instead

In: Rational Approximation and Interpolation (P.R. Graves-Morris, E.B. Saff, and R. S. Varga, eds.) Lecture Notes in Mathematics #1105, Springer-Verlag, Berlin, (1984), pp. 511-523.

of presenting the proofs which we had at the time of the publication of [7], we plan to use, as much as possible, the more general and more recent results in [8]. The novelty of the present paper is threefold. First, for the concrete case of the Laguerre weights, we can find explicitly the various quantities whose existence is asserted in [8]. In turn, we shall use these explicit expressions to prove the sharpness of our results. Second, we shall discuss some applications to the theory of Laguerre polynomials and other extremal polynomials. Third, the case of the Laguerre weights is, in a sense, "midway" between the case of the Jacobi weights studied in [10], [4] and the exponential weights investigated in [6]. Thus, it serves as an illustration of the connection between the two.

For the above reasons, we believe that Laguerre weights deserve a separate discussion, even in the presence of the general theory. In Section 2, we shall state the main theorems; the proofs are given in Section 3.

2. Main Results

For a Lebesgue measurable function g on an interval $I \subset [0, \infty)$, set

$$(2.1) \quad \|g\|_{p,I} := \begin{cases} \left(\int_I |g(x)|^p dx \right)^{1/p} & \text{if } 0 < p < \infty, \\ \operatorname{ess\,sup}_{x \in I} |g(x)| & \text{if } p = \infty. \end{cases}$$

The suffix I will be omitted if $I = [0, \infty)$ and the suffix p will be omitted if $p = \infty$.

Our first theorem is an analogue of Theorem 2.7 of [6] and, in part, follows as a consequence of the more general Theorem 2.2 of [8].

Theorem 2.1: Let $m > 0$ be an integer, $s \geq 0$, $\mu > 0$, $n := s+m > 0$ and $0 \neq P_m \in P_m$ (the class of all polynomials of degree at most m). If $\xi \in [0, \infty)$ satisfies

$$(2.2) \quad |\xi^s e^{-\mu\xi} P_m(\xi)| = \|x^s e^{-\mu x} P_m(x)\|,$$

then

$$(2.3) \quad a \leq \xi \leq b ,$$

where

$$(2.3') \quad \begin{aligned} a &= a(s, n, \nu) := \frac{n}{\nu} (1 - \sqrt{1 - (s/n)^2}) , \\ b &= b(s, n, \nu) := \frac{n}{\nu} (1 + \sqrt{1 - (s/n)^2}) . \end{aligned}$$

In particular,

$$(2.4) \quad \|t^s e^{-\nu t} P_m(t)\|_{[a,b]} = \|x^s e^{-\nu x} P_m(x)\| , \quad \forall P_m \in \mathcal{P}_m .$$

In Section 3, we shall prove (2.4) using the more general results in [8]. However, a complete proof of Theorem 2.1 requires some explicit computations similar to those in [6].

Our next theorem concerns the asymptotic behavior of certain extremal polynomials. Before stating this result, we introduce some needed notation.

For each $p (0 < p \leq \infty)$, $s \geq 0$ and integer $m \geq 1$, set

$$(2.5) \quad E_{s,m,p} := \min\{\|t^s e^{-t} (t^m - q_{m-1}(t))\|_p : q_{m-1} \in \mathcal{P}_{m-1}\}$$

and let $T_{s,m,p}(t) = t^m + \dots \in \mathcal{P}_m$ satisfy

$$(2.6) \quad E_{s,m,p} = \|t^s e^{-t} T_{s,m,p}(t)\|_p .$$

Theorem 2.2. Let $\theta (0 \leq \theta < 1)$ be fixed and suppose $\{s_i\}$ is a sequence of nonnegative real numbers and $\{m_i\}$ is a sequence of nonnegative integers such that $n_i := s_i + m_i > 0$ for each i , $n_i \rightarrow \infty$ and

$$(2.7) \quad s_i/n_i \rightarrow \theta \text{ as } i \rightarrow \infty .$$

Then,

(a) For each $p (0 < p \leq \infty)$, the minimal error defined in (2.5) satisfies

$$(2.8) \quad \lim_{i \rightarrow \infty} n_i^{-1} E_{s_i, m_i, p}^{1/n_i} = \left\{ \frac{(1+\theta)^{1+\theta} (1-\theta)^{1-\theta}}{4e^2} \right\}^{1/2} .$$

(b) There are $m_i + 1$ nonnegative numbers $\xi_{1i} < \dots < \xi_{m_i+1,i}$ such that

$$(2.9) \quad |\xi_{ji}^{s_i} e^{-\xi_{ji}} T_{s_i, m_i, \infty}(\xi_{ji})| = E_{s_i, m_i, \infty}, \quad j = 1, \dots, m_i + 1.$$

Furthermore,

$$(2.10) \quad \xi_{1i}/n_i + 1 - \sqrt{1 - \theta^2} \quad \text{and} \quad \xi_{m_i+1,i}/n_i + 1 + \sqrt{1 - \theta^2} \quad \text{as} \quad i \rightarrow \infty.$$

(In this sense, Theorem 2.1 is sharp.)

(c) All the zeros of the extremal polynomials $T_{s_i, m_i, p}$ are real and,
if $p \geq 1$, simple. For each p ($0 < p \leq \infty$) and interval
 $[c, d] \subset (0, \infty)$, let $N_{i,p}(c, d)$ denote the number of zeros of the
normalized polynomial $T_{s_i, m_i, p}(n_i t)$ which lie in $[c, d]$. Then

$$(2.11) \quad \lim_{i \rightarrow \infty} \frac{N_{i,p}(c, d)}{m_i} = \int_c^d h(\theta, x) dx,$$

where

$$(2.12) \quad h(\theta, x) := \frac{1}{(1-\theta)\pi} \frac{\sqrt{(b^* - x)(x - a^*)}}{x} \quad \text{if} \quad x \in [a^*, b^*],$$

$$a^* := 1 - \sqrt{1 - \theta^2}, \quad b^* := 1 + \sqrt{1 - \theta^2},$$

and $h(\theta, x) = 0$ if $x \notin [a^*, b^*]$.

While the case $\theta > 0$ and $p = \infty$ of Theorem 2.2 follows immediately from the results in [8], the assertion for arbitrary L^p -norms requires a new argument.

3. Proofs

It is convenient to prove (2.4) of Theorem 2.1 first.

Proof of (2.4). Since the case $m = 0$ of (2.4) is trivial to verify, we assume hereafter that $m > 0$. Our goal is to find a finite interval $[a, b]$ such that for every $P_m \in \mathcal{P}_m$

$$(3.1) \quad \|[w(t)]^{m P_m}(t)\|_{[a, b]} = \|[w(x)]^{m P_m}(x)\|,$$

where

$$(3.2) \quad w(t) := t^{s/m} e^{-\mu t/m} .$$

Since $Q(t) := \log(1/w(t)) = (\mu t - s \log t)/m$ is convex on $(0, \infty)$ we can now apply Theorem 2.2 of [8]. According to that theorem, the interval $[a, b]$ can be found by maximizing an "F-functional" defined by

$$(3.3) \quad F(c, d) := \log\left(\frac{d-c}{4}\right) - \frac{1}{\pi} \int_c^d \frac{Q(t) dt}{\sqrt{(t-c)(d-t)}} , \quad 0 \leq c < d .$$

To evaluate $F(c, d)$ explicitly, write

$$(3.4) \quad t = \frac{c+d}{2} + \frac{d-c}{2} \cos \theta = \left(\frac{\sqrt{c} + \sqrt{d}}{2}\right)^2 \left(1 + \frac{e^{i\theta}}{\phi}\right) \left(1 + \frac{e^{-i\theta}}{\phi}\right) ,$$

where $\phi := (\sqrt{d} + \sqrt{c})/(\sqrt{d} - \sqrt{c})$. Then, with $\alpha := s/m$, $\beta := \mu/m$, we have

$$(3.5) \quad Q(t) = \beta t - \alpha \log t = \beta \left(\frac{c+d}{2}\right) - 2\alpha \log\left(\frac{\sqrt{c} + \sqrt{d}}{2}\right) + \beta \left(\frac{d-c}{2}\right) \cos \theta \\ + 2\alpha \sum_{k=1}^{\infty} \frac{(-1)^k}{k \phi^k} \cos k \theta .$$

Substituting (3.5) and (3.4) into (3.3) we get

$$(3.6) \quad F(c, d) = 2\alpha \log\left(\frac{\sqrt{c} + \sqrt{d}}{2}\right) - \beta \left(\frac{c+d}{2}\right) + \log\left(\frac{d-c}{4}\right) .$$

It is now elementary to check that the choice of c, d ($d > c$) which maximizes $F(c, d)$ is given by

$$(3.7) \quad c = a = \frac{1}{\mu} (n - \sqrt{n^2 - s^2}) , \quad d = b = \frac{1}{\mu} (n + \sqrt{n^2 - s^2}) ,$$

where $n := s + m$. \square

A simple computation shows that the maximum value of F is

$$(3.8) \quad \bar{F} := F(a, b) = \frac{1}{2(1-\gamma)} \log \left[\frac{n^2(1+\gamma)^{1+\gamma}(1-\gamma)^{1-\gamma}}{4e^{2\mu^2}} \right] , \quad \gamma := \frac{s}{n} .$$

Theorem 2.3 of [8] and the remark following Lemma 4.3 of [8] assert that there exists a (necessarily unique) unit measure ν with support $[a, b]$ such that

$$(3.9) \quad \int_a^b \log|t-x| d\nu(x) = \frac{\mu}{m} t - \frac{s}{m} \log t + \bar{F}, \quad \forall t \in [a, b].$$

Further, if $P_m \in \mathcal{P}_m$ and

$$(3.10) \quad |t^s e^{-\mu t} P_m(t)| \leq M, \quad \forall t \in [a, b],$$

then

$$(3.11) \quad |P_m(z)| \leq M \exp\left(m \left[\int_a^b \log|z-t| d\nu(t) - \bar{F} \right]\right), \quad \forall z \in \mathbb{C}.$$

In order to complete the proof of Theorem 2.1, we shall explicitly compute $d\nu$ and then estimate the right-hand side of (3.11). These technical results are summarized in the following lemma.

Lemma 3.1. Set

$$(3.12) \quad g(x) := g(s, m, \mu; x) := \frac{\mu(b-x)(x-a)}{mx}, \quad x \in [a, b],$$

where a, b are given in (3.7) with $n := s+m$. Then

$$(3.13) \quad \frac{1}{\pi} \int_a^b \frac{g(x) dx}{\sqrt{(b-x)(x-a)}} = 1,$$

$$(3.14) \quad \frac{1}{\pi} \int_a^b \log|x-t| \frac{g(x) dx}{\sqrt{(b-x)(x-a)}} = \frac{\mu}{m} t - \frac{s}{m} \log t + \bar{F}, \quad \forall t \in [a, b],$$

$$(3.15) \quad \frac{1}{\pi} \int_a^b \log|x-t| \frac{g(x) dx}{\sqrt{(b-x)(x-a)}} < \frac{\mu}{m} t - \frac{s}{m} \log t + \bar{F}, \quad \forall t \in (0, \infty) \setminus [a, b].$$

Proof. Let

$$(3.16) \quad x =: \frac{a+b}{2} + \frac{b-a}{2} \cos \phi$$

and observe from (3.7) that with $\alpha := s/m$, $\beta := \mu/m$ we have

$$(3.17) \quad a = \frac{1}{\beta} [1 + \alpha - \sqrt{1 + 2\alpha}], \quad b = \frac{1}{\beta} [1 + \alpha + \sqrt{1 + 2\alpha}],$$

$$(3.18) \quad \left(\frac{\sqrt{b} + \sqrt{a}}{2} \right)^2 = \frac{1+2\alpha}{2\beta} \quad , \quad \sqrt{ab} = \frac{\alpha}{\beta} \quad ,$$

$$(3.19) \quad \phi := \frac{\sqrt{b} + \sqrt{a}}{\sqrt{b} - \sqrt{a}} = \sqrt{1+2\alpha} = \beta \left(\frac{b-a}{2} \right) \quad ,$$

$$(3.20) \quad x = \frac{1}{\beta}(1+\alpha+\phi \cos \phi) = \frac{1+2\alpha}{2\beta} \left(1 + \frac{e^{i\phi}}{\phi} \right) \left(1 + \frac{e^{-i\phi}}{\phi} \right) \quad .$$

Substituting (3.17) into (3.12) we get

$$g(x) = 2 + 2\alpha - \beta x - \frac{\alpha^2}{\beta x} = 2 + \alpha - \beta x - \alpha \left[\frac{(\alpha/\beta) - x}{x} \right]$$

which, with the aid of (3.19) and (3.20), can be written as

$$(3.21) \quad g(x) = 1 - \phi \cos \phi + 2\alpha \left(\frac{1 + \phi \cos \phi}{\phi^2 \left| 1 + \frac{e^{i\phi}}{\phi} \right|^2} \right)$$

$$= 1 - \phi \cos \phi + 2\alpha \operatorname{Re} \left\{ \frac{e^{i\phi}/\phi}{1 + e^{i\phi}/\phi} \right\}$$

$$= 1 - \phi \cos \phi - 2\alpha \sum_{k=1}^{\infty} \frac{(-1)^k}{\phi^k} \cos k\phi \quad .$$

Equation (3.13) is now clear. Also, (3.14) follows from the identity

$$(3.22) \quad \frac{1}{\pi} \int_a^b \log|x-t| \frac{g(x) dx}{\sqrt{(b-x)(x-a)}} = \log \frac{b-a}{4} + \frac{1}{\pi} \int_{-\pi}^{\pi} \log|1-e^{i(\theta-\phi)}| g(x) d\phi \quad ,$$

where θ is defined in (3.4), after comparing the Fourier series of the right-hand side of (3.22) with (3.5) for $c=a$, $d=b$.

To prove (3.15), let

$$(3.23) \quad \psi(t) := \frac{d}{dt} \left\{ \frac{1}{\pi} \int_a^b \log|x-t| \frac{g(x) dx}{\sqrt{(b-x)(x-a)}} - \beta t + \alpha \log t \right\}$$

$$= \frac{\beta}{\pi} \int_a^b \frac{\sqrt{(b-x)(x-a)}}{x(t-x)} dx - \beta + \frac{\alpha}{t} \quad .$$

We shall show that $\psi(t) > 0$ if $t < a$. Write

$$(3.24) \quad x = \frac{a+b}{2} + \frac{b-a}{2} \cos \phi, \quad t = \frac{a+b}{2} - \frac{b-a}{2} \lambda, \quad \lambda > 1,$$

and set $R := (b+a)/(b-a)$. It requires only elementary computations to see that

$$\begin{aligned} \psi(t) &= \frac{\beta}{R-\lambda} \left[\sqrt{\lambda^2-1} - \sqrt{R^2-1} \right] + \frac{2\alpha}{(b-a)(R-\lambda)} \\ &= \frac{\beta\sqrt{\lambda^2-1}}{R-\lambda} + \frac{1}{R-\lambda} \left[\frac{2\alpha}{b-a} - \beta\sqrt{R^2-1} \right]. \end{aligned}$$

But, in view of (3.18), the last expression can be simplified to get

$$\psi(t) = \frac{\beta\sqrt{\lambda^2-1}}{R-\lambda} > 0.$$

A similar computation shows that $\psi(t) < 0$ if $t > b$. Hence from (3.14) it follows that (3.15) holds. \square

Proof of Theorem 2.1. In view of Lemma 3.1, the measure ν of (3.9) and (3.11) is given by $g(x)dx/\pi\sqrt{(b-x)(x-a)}$. Hence, the proof is complete, using (2.4), (3.11) and (3.15). \square

To facilitate the proof of Theorem 2.2 for the case $p = \infty$, $0 < \theta < 1$, we introduce some abbreviations. Let

$$\begin{aligned} w_i(t) &:= t^{s_i/m_i} e^{-t}, \quad w_\theta(t) := t^{\theta/(1-\theta)} e^{-t}, \\ \hat{T}_i(t) &= t^{m_i} + \dots, \quad \hat{T}_{\theta,i}(t) = t^{m_i} + \dots \in P_{m_i}, \\ (3.25) \quad E_{i,m_i} &:= \|[w_i(t)]^{m_i} \hat{T}_i(t)\|_\infty = \min_{P \in P_{m_i-1}} \|[w_i(t)]^{m_i} [t^{m_i-P}(t)]\|_\infty, \\ E_{m_i} &:= \|[w_\theta(t)]^{m_i} \hat{T}_{\theta,i}(t)\|_\infty = \min_{P \in P_{m_i-1}} \|[w_\theta(t)]^{m_i} [t^{m_i-P}(t)]\|_\infty. \end{aligned}$$

Note that

$$(3.26) \quad \hat{T}_i(t) = m_i^{-m_i} T_{s_i, m_i, \infty}(m_i t), \quad E_{i, m_i} = m_i^{-n_i} E_{s_i, m_i, \infty}.$$

Also observe that, by Theorem 2.1, there exists a finite interval

$[\bar{a}, \bar{b}] \subset (0, \infty)$ such that (with $\nu = m_i$, $s_i/n_i \rightarrow \theta$) all the sup norms in (3.25) are attained on $[\bar{a}, \bar{b}]$ for i sufficiently large.

We divide the proof of Theorem 2.2 into several special cases.

Proof of Theorem 2.2 ($p = \infty$, $0 < \theta < 1$): (a) In view of Theorem 2.2 of [8] and the formula for \bar{F} in (3.8) we have

$$(3.27) \quad \lim_{i \rightarrow \infty} E_{m_i}^{1/m_i} = (1 - \theta)^{\frac{-1}{1-\theta}} \left\{ \frac{(1 + \theta)^{1+\theta} (1 - \theta)^{1-\theta}}{4e^2} \right\}^{\frac{1}{2-2\theta}} =: \Delta .$$

However, since $w_i(t)/w_\theta(t) \rightarrow 1$ uniformly on $[\bar{a}, \bar{b}]$, where all the sup norms in (3.25) are actually attained, it is easy to see that (3.27) holds also for E_{i, m_i} replacing E_{m_i} . In view of (3.26), then, (2.8) follows by elementary computations.

(b) The existence of the extreme points is a consequence of the general theory for Haar systems. The limiting relations (2.10) will follow from part (c) together with Theorem 2.1.

(c) We first obtain the zero distribution for the polynomials $\hat{T}_i(t)$. For this purpose we show that

$$(3.28) \quad \limsup_{i \rightarrow \infty} \|[w_\theta(t)]^{m_i} \hat{T}_i(t)\|_\infty^{1/m_i} \leq \Delta ,$$

that is,

$$(3.29) \quad \limsup_{i \rightarrow \infty} \|[w_\theta(t)]^{m_i} \hat{T}_i(t)\|_{\infty, [\bar{a}, \bar{b}]}^{1/m_i} \leq \Delta .$$

Let $\epsilon > 0$ and choose an integer I so large that $i \geq I$ implies

$$w_\theta(t)/w_i(t) \leq 1 + \epsilon, \quad \forall t \in [\bar{a}, \bar{b}] ,$$

and

$$E_{i, m_i}^{1/m_i} \leq \Delta(1 + \epsilon) .$$

Then, for $i \geq I$,

$$\begin{aligned} \|[w_\theta(t)]^{m_i} \hat{T}_i(t)\|_{\infty, [\bar{a}, \bar{b}]} &\leq (1 + \epsilon)^{m_i} \|[w_i(t)]^{m_i} \hat{T}_i(t)\| \\ &\leq (1 + \epsilon)^{2m_i} \Delta^{m_i} \end{aligned}$$

from which (3.29) follows. Now, applying Theorem 2.4 of [8], we see from Lemma 3.1 that the limiting zero distribution of the $\hat{T}_i(t)$'s

is given by $g(x)dx/\pi\sqrt{(b-x)(x-a)}$, where in the definition (3.12) of $g(x)$ we take $\mu = m$, $a = (1 - \sqrt{1 - \theta^2})/(1 - \theta)$, $b = (1 + \sqrt{1 - \theta^2})/(1 - \theta)$. Hence, from (3.26), this must also be the limiting zero distribution for the polynomials $T_{s_i, m_i, \infty}(m_i t)$. With a change of variable, we then obtain (2.11). \square

Proof of Theorem 2.2: ($p = \infty$, $\theta = 0$). In this case $\bar{a} = 0$ and $w_i(t)/w_\theta(t)$ need not converge to 1 uniformly on $[0, \bar{b}]$. However,

$$w_i(t) = t^{s_i/m_i} e^{-t} \leq \bar{b}^{s_i/m_i} e^{-t} = \bar{b}^{s_i/m_i} w_\theta(t); \quad t \in [0, \bar{b}],$$

and hence

$$\begin{aligned} E_{i, m_i} &= \|[w_i(t)]^{m_i} \hat{T}_i(t)\|_\infty \leq \|[w_i(t)]^{m_i} \hat{T}_{\theta, i}(t)\|_\infty \\ &\leq \bar{b}^{s_i} \|[w_\theta(t)]^{m_i} \hat{T}_{\theta, i}(t)\|_\infty = \bar{b}^{s_i} E_{m_i}. \end{aligned}$$

Since $s_i/m_i \rightarrow 0$ as $i \rightarrow \infty$, we get

$$(3.30) \quad \limsup_{i \rightarrow \infty} E_{i, m_i}^{1/m_i} \leq \lim_{i \rightarrow \infty} E_{m_i}^{1/m_i} = \frac{1}{2e},$$

where the equality follows from (3.27) with $\theta = 0$. Furthermore, Theorem 2.1 of [8] gives

$$\liminf_{i \rightarrow \infty} E_{i, m_i}^{1/m_i} \geq \frac{1}{2e}.$$

Hence $E_{i, m_i}^{1/m_i} \rightarrow 1/2e$ as $i \rightarrow \infty$ which is equivalent to assertion (2.8) when $\theta = 0$.

Once more, part (b) will follow from part (c). To prove part (c), observe that since $s_i/m_i \rightarrow 0$ as $i \rightarrow \infty$, the distribution of zeros for $\hat{Q}_i(t) := t^{s_i} \hat{T}_i(t)$ is the same as that for $\hat{T}_i(t)$. From (3.30) we get (with $w_\theta(t) = e^{-t}$)

$$\begin{aligned} \limsup_{i \rightarrow \infty} \|[w_\theta(t)]^{m_i + s_i} t^{s_i} \hat{T}_i(t)\|_{\infty, [0, \bar{b}]}^{1/(m_i + s_i)} \\ \leq \limsup_{i \rightarrow \infty} \left\{ \|[w_i(t)]^{m_i} \hat{T}_i(t)\|_{\infty, [0, \bar{b}]}^{1/m_i} \right\}^{m_i/(m_i + s_i)} \\ \leq \frac{1}{2e}. \end{aligned}$$

Hence Theorem 2.4 of [8] gives the zero distribution for the sequence $t^{s_i} \hat{r}_i(t)$ and therefore for the $\hat{r}_i(t)$. Just as in the case $\theta > 0$, this leads to the desired zero distribution for the polynomials $T_{S_i, m_i, \infty}(n_i t)$. \square

We now turn to the case when $p < \infty$. As in [6], our major tool will be Nikolskii-type inequalities. In order to use these, we need an estimate on the Christoffel function for the Laguerre weights $x^\alpha e^{-x}$ which is independent of α if $0 \leq \alpha \leq 1$. To this end, we prove

Lemma 3.2. Suppose k is a positive integer and $0 \leq \alpha \leq 1$. Let $\{L_n\}$ be the sequence of orthonormal Laguerre polynomials with respect to the weight $x^{\alpha k} e^{-x}$. Then for $x \in [0, \infty)$,

$$(3.31) \quad |x^{\alpha k} e^{-x} \sum_{j=0}^{n-1} L_j^2(x)| \leq cn^{2k+1},$$

where c is a constant independent of α .

Proof. Clearly, it suffices to estimate L_j when $j \geq k$. So, let $j \geq k$. Then, by Theorem 2.1 (with $b = b(\alpha k, 2j + \alpha k, 1)$), we have for all $x \in (0, \infty)$,

$$(3.32) \quad |x^{\alpha k} e^{-x} L_j^2(x)| \leq b^{\alpha k} \|e^{-x} L_j^2(x)\|_{\infty} \leq (4j + 2\alpha k)^{\alpha k} \|e^{-x} L_j^2(x)\|_{\infty} \\ \leq (6j)^k \|e^{-x} L_j^2(x)\|_{\infty}.$$

Also from [2, §10.12, §10.18] we have for $x \in [0, \infty)$,

$$e^{-x} L_j^2(x) \leq \frac{\Gamma(j + \alpha k + 1)}{j!} \cdot \frac{1}{[\Gamma(\alpha k + 1)]^2} \leq (2j)^k.$$

Together with (3.32) this leads to (3.31). \square

Using Lemma 3.2, Theorem 2.1 and also Theorems 6.1 and 6.4 of [6], we get the following:

Proposition 3.3: Let $0 \leq \alpha \leq 1$, $n \geq 1$ be an integer, $0 < p, r \leq \infty$ and $P_n \in \mathcal{P}_n$. Then there are constants c and d depending upon p and r but not on α , n or P_n such that

$$(3.33) \quad \|x^\alpha e^{-x} P_n(x)\|_p \leq cn^d \|x^\alpha e^{-x} P_n(x)\|_r .$$

We are now in a position to complete the proof of Theorem 2.2.

Proof of Theorem 2.2: ($p < \infty$) . In the proof of part (a) for the case when $p < \infty$, we use Proposition 3.3 with $x^{[s_i]} T_{s_i, m_i, p}(x)$ in place of P_n , where $[s_i]$ is the greatest integer less than s_i , to see that

$$\lim_{i \rightarrow \infty} n_i^{-1} E_{s_i, m_i, p}^{1/n_i} = \lim_{i \rightarrow \infty} n_i^{-1} E_{s_i, m_i, r}^{1/n_i} , \quad 0 < p, r \leq \infty .$$

Part (a) then follows from the previously proved case $p = \infty$.

The proofs of parts (b) and (c) are now exactly the same as the proofs in [6] of the analogues of the parts (b) and (c) of Theorem 2.2. Hence, we omit the details. \square

References

1. J. B. Conway, Functions of one complex variable, Springer-Verlag, Berlin (1973).
2. A. Erdelyi, W. Magnus, F. Oberhettinger and F. G. Tricomi, Higher Transcendental Functions, Vol. II, McGraw-Hill Book Co., New York (1953).
3. J. H. B. Kemperman and G. G. Lorentz, Bounds for polynomials with applications, Nederl. Akad. Wetensch. Proc. Ser. A. **82** (1979), 13-26.
4. M. A. Lachance, E. B. Saff, and R. S. Varga, Bounds for incomplete polynomials vanishing at both endpoints of an interval, Constructive Approaches to Mathematical Models (C.V. Coffman and G.J. Fix, eds.), Academic Press, New York (1979), 421-437.
5. G. G. Lorentz, Approximation by incomplete polynomials (problems and results), Pade and Rational Approximation: Theory and Applications (E.B. Saff and R.S. Varga, eds.), Academic Press, New York (1977), 289-302.
6. H. N. Mhaskar and E. B. Saff, Extremal problems for polynomials with exponential weights, Trans. Amer. Math. Soc. **285** (1984), 203-234.

7. H. N. Mhaskar and E. B. Saff, Extremal problems for polynomials with Laguerre weights, Approximation Theory IV (C. K. Chui, L. L. Schumaker and J. D. Ward, eds.), Academic Press, New York (1983), 619-624.
8. H. N. Mhaskar and E. B. Saff, Where does the sup norm of a weighted polynomial live? (A generalization of incomplete polynomials), to appear in Constructive Approximation.
9. H. N. Mhaskar and E. B. Saff, Weighted polynomials on finite and infinite intervals: a unified approach, Bull. Amer. Math. Soc. 11 (1984).
10. E. B. Saff, J. L. Ullman, and R. S. Varga, Incomplete polynomials: an electrostatics approach, Approximation Theory III (E. W. Cheney, ed.), Academic Press, New York (1980), 769-782.
11. E. B. Saff and R. S. Varga, The sharpness of Lorentz's theorem on incomplete polynomials, Trans. Amer. Math. Soc. 249 (1979), 136-186.
12. E. B. Saff and R. S. Varga, On incomplete polynomials, Numerische Methoden der Approximationstheorie (L. Collatz, G. Meinardus, H. Werner, eds.) ISNM 42 Birkhauser Verlag, Basel (1978), 281-298.